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QUESTION 1

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 

C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 

 

 

QUESTION 2

Identify the two configurations in Supply Chain cloud applications of Product Information Management (PIM) and Order
promising (GOP), which must be set to process the Back-to-Back order with Make Supply Order, for a nonstocked item. 

A. Set the nonstocked item to be back-to-back enabled in Product Information Management (PIM). 

B. Set the global sourcing rule in GOP to determine supply creation option as Make. 

C. Set a local sourcing rule in GOP to determine supply creation option as Make. 

D. Create Supply Order Orchestration Defaulting and Enrichment Rule for the nonstocked item. 

E. Create Supply Chain Orchestration Supply Execution Document Creation Rule for the nonstocked item. 

Correct Answer: AB 

 

 

QUESTION 3

Your customer has defined the work definitions. They have created and saved a new version for the work definition and
want to edit that work definition. Which two attributes cannot be updated using the Edit Work Definition Details action? 
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A. State Date 

B. Costing Priority 

C. Version 

D. Production Priority 

Correct Answer: AC  

 

QUESTION 4

The Manufacturing Engineer, responsible for creating and maintaining the Work Definitions, has scheduled the Process
Item Structure Changes to Work Definitions program. However, after the execution of the program the engineer did not
receive a notification with the details of the Item Structure changes. Which two reasons could cause this? 

A. The engineer does not have Data access to Items Attributes. 

B. The engineer does not have Data access to Items. 

C. The engineer does not have Data access to Manufacturing plant in which the Item Structure change was performed. 

D. The engineer does not have Data access to Item Structures. 

E. The engineer does not have the Manage Work Definitions function privilege. 

Correct Answer: CE 

 

QUESTION 5

A production Supervisor has noticed that Work Orders created manually are overwritten by the plan runs 

executed by Planning Central. After discussing this issue with the Planner, two actions are recommended 

to prevent the Work Orders from being overwritten by plan runs. 

Identify the two recommendations. 

A. Update Supply Plan Options, Overwrite Firm Planned Orders = None. 

B. Update Firm flag in the Details region of the Edit Work Definition page. 

C. Update Firm flag in the Details region of the Edit Work Definition Names page. 

D. Update Firm flag in the Details region of the Edit Work Order page. 

Correct Answer: AD 
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